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1.	Introduction
In the last meeting, RAN2 agreed that UE doesn’t need to update Bj once being released to RRC_INACTIVE.
During [AT118-e][502][Sdata] UP open issues and CR to 38.321, RAN2 tried to capture the agreement but companies have different understanding on the current behaviour of Bj increment. Finally, no change was captured regarding the agreement.
In this document, we provide our view on the Bj increment.
2.	Discussion
In the last meeting, RAN2 made an agreement as follows: 
· UE doesn’t need to update Bj once being released to RRC_INACTIVE
During the e-mail discussion for [AT118-e][502][Sdata] UP open issues and CR to 38.321, one company suggested to add the following NOTE to reflect above agreement.
· NOTE: UE doesn’t update Bj in RRC_INACTIVE when there is no SDT procedure ongoing.
However, some companies had different understandings on how the Bj increment works in the current specification, and discussed whether the change is needed for the agreement.
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The Logical Channel Prioritization (LCP) procedure is applied whenever a new transmission is performed.
…Unnecessary part omitted…
The following UE variable is used for the Logical channel prioritization procedure:
-	Bj which is maintained for each logical channel j.
The MAC entity shall initialize Bj of the logical channel to zero when the logical channel is established.
For each logical channel j, the MAC entity shall:
1>	increment Bj by the product PBR × T before every instance of the LCP procedure, where T is the time elapsed since Bj was last incremented;
1>	if the value of Bj is greater than the bucket size (i.e. PBR × BSD):
2>	set Bj to the bucket size.
NOTE:	The exact moment(s) when the UE updates Bj between LCP procedures is up to UE implementation, as long as Bj is up to date at the time when a grant is processed by LCP.



To summarize the e-mail discussion, companies have differently interpreted the current specification for the Bj increment
· Understanding 1. Bj is incremented considering the time between RRCRelease and SDT initiation, i.e., the elapsed time T is T2 at M3.
· Understanding 2. Bj is incremented considering the time only after SDT initiation, i.e., no elapsed time T at M3.


Figure 1. Moment of Bj increment

Based on “NOTE: The moment when the UE updates Bj between LCP procedures is up to UE implementation”, we assume that Bj is incremented at the moment of new transmission considering the elapsed time.
Companies having Understanding 1 think that the last incremented moment is M2, so in the current specification, when SDT is initiated at M3 and LCP is performed, Bj is incremented by PBR×T2. Thus, they suggested to add Note to reflect the agreement. We have a same view with Understanding 1.
Companies having Understanding 2 think that the elapsed time T is accumulated only considering the time when LCP is performed, so when SDT is initiated at M3 and LCP is performed, Bj is started with zero at M3 and Bj is incremented by PBR×T3 at M4. Thus, they think the current Bj increment behaviour is aligned with the agreement and the Note is not needed. 
However, we have different understanding from Understanding 2. For Bj incremented as in Understanding 2, the text should be that "T is the time elapsed since the last new transmission after initialization". This is not aligned with the current text. Thus, in the current specification, the Bj increment is interpreted as in Understanding 1, so the NOTE suggested in the last meeting is needed to reflect the agreement.

Even if the NOTE is added, one may think that the moment when Bj is last incremented is M1 not M2, because, strictly speaking, the initialization of Bj is not an incremented moment, i.e., the elapsed time T is T1 at M3.
However, in legacy, the initialization moment (M2) is already considered as the last incremented moment. When the UE transition to RRC_CONNETED from RRC_IDLE, logical channels are established and Bj is initialized. Then, if the UE performs a new transmission in RRC_CONNECTED, the elapsed time T is accumulated from the initialization moment and Bj is incremented as starting from zero at the initialization moment. Thus, it is general understanding that the initialization is understood to be considered as the last incremented moment.
With Proposal 1 and the general understanding, Bj is initialized at M2 and is not incremented during RRC_INACTIVE when there is no ongoing SDT. As a result, the Bj is started from zero at SDT initiation. We think this is aligned with the legacy behaviour in RRC_CONNETED, i.e., Bj is started from zero at the time when logical channel is available. In RRC_CONNECTED, logical channels are available when the logical channels are established, and in SDT procedure, logical channels are available when the logical channels are resumed. Thus, with the NOTE, the Bj increment can be aligned with the behaviour in RRC_CONNECTED.
Therefore, in order to reflect the agreement, a NOTE should be added.
Proposal 1. Add the following NOTE to reflect the agreement in last meeting.
· NOTE: UE doesn’t update Bj in RRC_INACTIVE when there is no SDT procedure ongoing.

3.	Conclusion
In this document, we present our view on Bj increment, and made proposal as follows.
Proposal 1. Add the following NOTE to reflect the agreement in last meeting.
· NOTE: UE doesn’t update Bj in RRC_INACTIVE when there is no SDT procedure ongoing.
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